Plot straight line graphs

a) Complete the tables.

o Here are three tables of values for the lines P, Q and R.

P =3 4 X -2 -1 0 1 2
IR 21114 210
Q xs+2 X -2 -1 0 2
- y [ 4[32[T]0
R —05 3 X -2 -1 0 1 2
S y ¢ [-14]-3 [Ff[-=

b) Plot and label lines P, Q and R.

e a) Complete the tables of values for the four lines: L, Ly, Ls and Ls

L y=4x+3 L y=3-4x
x| -2 -1 0 2 x | -2 -1 0 1 2
Y3 TN [y UT3-E
L, y=4x-3 L y=-3-4x

x| -2 -1 0 2 x | -2 -1 0 1 2
M ERIES s y | S U=3-1 -

What is the same? What is different? l ) '“"‘“ L T
bre earcl e (

Discuss it with a partner.
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e a) Complete the tables of values for the four lines: J, K, L and M.

Lines en 2nA scf ot axes are

Steeper

° Tommy has worked out the coordinates of three points on the line

J y=5x+2 L y=2-x ¥y =1-2x and used them to draw the graph of y = 1 - 2x.
x| 2| 0 1 2 x| -2 |- 0 1 2 6
5
v [-8~3] 2] 2| [y | 4|3 |2]|1]O :
y=1-2x \i
K 2+3x=y M y=-4x+2 x
230N @-3 2 21N 23
x| 2|10 |1]2 x| 2|10 |1]2 12
4
yFd-1[2[S 3| |7 w]6|2]-2]-6 Iz
b) Plot and label the lines. -7 j 2)/ How can you tell by looking at the graph that Tommy must have made o
a mistake?
e a) Work out the coordinates of three points on the lines T, U and V. O
\'
“ - > J
-3 2 3
L_ b) Draw and label the lines on both coordinate grids. ZL/
A A
4 8-
31 67
_4- 21 4
1 21
= M < be 4 N
AL T T T T T ™X « T T T T T T ™X
-8 -6 4 -2 0 2 4 6 -4 -3 -2 10 1 2 3
-63 ~11 21
=21 =4
c) Look at the sequence formed by the y-values for each line. 3 6
What do you notice?
y O

d) All the lines have exactly one point in common.

What is the same? What is different?

(012}

What are the coordinates of this point?

Why does this happen?
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e a) Complete the tables of values for the four lines: Ly, L,, Ls and L4

L, y=4x+3 L, y=3-4x

x | -2 | -1 0 1 2 x | =2 | -1 0 1 2
yl=-s (-3 7| y [V 3 |-
L, y=4x-3 L, y=-3-4x

x | -2 | -1 0 1 2 x | 2 | -1 0 1 2
y |~ 0= 3V S y | S| U |=3]-7 |-1
“ <= 4 x £ 73

- O + 3 — R
= = 40) +3 - L +3 = 7
-~ 2 = 4(2)43 = g+3 = U
3:. 4")(«3
= -2 3:4(—2)-—2 = - ¥-23 = - [
. = qz4l-3 .3 = - 4-2 = -7
- 0O ‘3:4(0>"3 = O -7 = "3
= | q=g4(l) -3 = 4—-2 = |
= Y-d4d() -3 = §-2 = S
9= I -ax
= -2 W= 3-4(2) = J+g = [(
= o G = 3-4C) = 344 =7
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2 3:3—4(1): - =-S5

j-’i ~d—4x

- ‘3;—-3_4(-2) = - 34Y = S
— | = ~3—4(-—‘) - — 344 =



